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Directions
Farmer Gordon wants to know how many heads of lettuce he has in his garden. Instead
of counting, he is going to show you a faster way of finding the total.

Example X X Yo X

20000
20000 |crw
2000 ®
2500500

5 heads of leffuce per row

Instead of counting or adding the heads of lettuce, Farmer Gordon wrote the following
multiplication sentence:

6 x 5 = 30 heads of lettuce

Now you try! Find out the total number of windows on this building.

How many rows of windows do you see?

How many windows per row?

Write a multiplication sentence for this array and solve:
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